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�  (  ��	 ���� ����� ������ !�"#�$� �%&'��' ����()�*+� �,-� �./�01 2�-3 ��)��4� �+�� 5�	�*�� 61 
��-7&�� ��89 :��;����<��������� ����=>� ?$@   

�(   ���� ���	 ?$@ ��������� ����=>� ?$@ 5��-7&�� ��A�&�� ��89 B�� 2�-C D�,-$� ��)��4� ���"� E %&'
��' ������	(�)�*+  

  �����  

1  � ��1�$�F� G�,��/�� H�$F� I �0,*F1J�"0�� K/�	 ��-7&�� ��89 2�-L .  

  

 �����1  

  

1  ���	� 
��
�  

� ��&
�� �;"0F� N�� 5����� O��= P�0)�0�R�F� ST (��-7&�� �=VF W�
� ��4�� �X$� . K1 Y�/�/' SZ�� ��-7&�� �=V1 �' �[	
�� \�/ ��.�@�� I ]^V_� � ���L� :`�1 ab+ �O�b����=VF 5��,��� W�
����-7&��  . �1 �";& 
0@ )�0c�� ��7� ]d
0@	

 I Y�0,*�15��,��� 5��-F��"/��� %0@ N�_�	 :  
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f�3:  

  ρ:   O��A�� S-1 )�0c� �"g h�&  

  n:  5�i� ��-7&�� �=V1  

  dn/dh:  ��-7&�� �=VF 5��,��� W�
���  

  h:  / J�+ �";0�� O�b������� �"  

  ϕ:  S-1 ��	�j�/	�
F� �";0�� 
0@ a;+�� 5��-F� K1 O��A�� .  

_�Y�k4�1 l��;� ��7� �1
0@ m4�1 %&' ?$@ ��=�� )�0c� �
����� �"/ �c  . �n� l
3	 ������ ?$@ Y��$,@ o�p�`�� l]p hg��� �	
�4�F� G�q 5	�-� �+�-1 ?$@ �,k1 ��b�7� SZ�� � �=VF� W�
� ��r.  
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2  ������� ��	� ��� ���  

� ��7� �Y�.��;� Y��;+' S-F� ��r �nϕ �b� 61 �.��g . �' �[ �67�	n  61 Y�
4 �.��g1 �����F� �s+ �(1) ����� ��0�� ?$@ !-._�:  

 

1

ρ
= − d

d

n

h
  (2) 

�o�d�� t��g' ��7� ��S-F� �s+ �Y����8 5��,��� W�
��� ��r �n� %&' �u���� 6,+ v�].  

 w	
3 67x �O��A�� S-1 G�q ?$@ y��8 ����-7&�� W�
� 5' �Y��"^ O�b���� z� ��0�/��� ����-7&�� {&�i� �k`F� ��r �n�	
Y�,�;�-1 ��A�&�� ��.�@�� �,-� G�
 . G��+ �"g h�& ��n ��u���+� ��' �/��� G����� |7A�	Re = k a�"/��� %0@ Y�N�1 �:  

 

e
Rh

n

aka

1

d

d11 =+=  (3) 

 f�3a ?$@ G
� a;�;L� ���� �"g h�& f�3	 �k G��b�� ���� �"g h�& |1�@ �p ) |1�@k .(a/
0}� G����� �]p K1	� 
O�b���� ��	�j 6@ G~�[ ��"^ O��A�� ����-1 ��7�.  

���-7&�� W�
� ��7� � ��g
�� 61 Nr' �4�
�	�Y��;+' S-F� ��r �n� �� Y����8  .� Kg���� I	 a/�� Wn�,0�� |�x �' 67x a$,��
 a"/��� ��-7&�� �=VF {&�i� �k`,$�) :g� ������� �`&�ITU-R P.453 (( 6@ |;� ��� ��@�b���� �.-0��� 1 000 ��1 ( |7A� 

a"^ Wn�� H��q 6@ {��;� . ��7�	�� |1��k �p �g���� 	n k = 4/3.  

  

3  ������ ������� ����  

���� B�.� �.-0�� :�/�� �� �,�+ Y��1 ���;�."O��A���+���1 ��-7&� o
3	 	' G
�1 ��-7&� �=V1 |,��-_� �  ������� IITU-R 

P.310 . ��-7&�� o
3	 ?"�_�	M �"/���:  

 M  =  N  +  
h

a
  (4) 

1 ��r Kh 	 ���1��� %0@ Y�N�1 ��0�F� �";0�� O�b���a � ���� %0@ Y�N�1 ���� �"g h�&����1�$�7� . |������ �]p �,-�	
�p�$�� �"-.01 ��' �"/ J�+ ��A�&�� z� O�4���� �� �4� ��-7&�� o
3	 %�+ �k����-7&� G�M.  

  

4  ��!��� "�#��� $�% �&�'�(�� �&��)�� ��*� �&+�,  

1.4  �	
�  

]^R� ��d�*+ �"� ���p�`�� O�b���� ��	�j :��;� 5�	�*�� 61 �:/�;��� ��/��� I��-7&�� 5�i� ��.-L� I  . a$� �,�+ ?"�_�	
�./�01 2�-3 �;��q.  

2.4  ���
���� ���� ����  

r o�;b�� I ����1 �p �,1 ���� �"/ ?$@ �"� 61 �$/�1 ������� �1~3 �s+ �l�@' ) O�b���(km) h O�b��� ��	�j	 θ 
)��4�
��� ((5�i� ��-7&�� �8� Y��`& ���� �c ��_� .67x	 ���-7&�� ����� :��;� τ) ��4�
���(����� |1�7��� �"/��� �:  
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( )
( )∫

∞

ϕ⋅
−=τ

h

x
xn

x'n
d

tan
  (5) 

3 �

 f�ϕ ��."g ���8�
3s� |�0/ ��&�g t�/' ?$@ ����� ��0�� ?$@:  

 ( ) ( )cos ϕ =
+ ⋅

c

r x n x

  (6) 

 ( ) ( )c r h n h= + ⋅ ⋅ cos θ
  (7) 

  r:   ���� �"g h�&(km 6 370)  

  x:   O�b����(km).  

	[ �' �O��A�� )�0c���� )~i� �"/��� �
�� )~i� ?$@ S.r 
3 z� hg��� � 
0@ a"� �i ��-7&�� �=V1 2�-3 67x ��X$� 
 O�b���x ������� ��1��F� 61 Y�g�"&�:  

 ( ) ( )n x a bx= + ⋅ −1 exp
  (8) 

f�3:  
  = a 0,000315  
  = b 0,1361.  

	��� 5�i� Wn�,0�� ?$@ Wn�,0�� �]p ��; ������� I ���F� a�/ITU-R P.453 ���� ��A�&� . �s+ v�n z� �+�u�	n′(x) pa 
 61 �;�A1n(x)� 5' (n′(x) = -a b exp (-bx)).  

 
g	 :��;� Eτ (h, θ)) ��4�
��� (Y�
�4 Y�.��;� a"�� ������� ��,g��� �Z���� �' 	
.�	 <a�4�F� �i� ����+��:  

(9) τ (h, θ)  =  1/[1.314  +  0.6437 θ  +  0.02869 θ2  +  h (0.2305  +  0.09428 θ  +  0.01096 θ2)  +  0.008583 h2] 

	E |4' 61 m��;��� �]p ?$@ G��L� (0 ≤ h ≤ 3 km)  	(θm ≤ θ ≤ 10°)� f�3 θm� �1~L� �p
0@ !;+ ����_� ��� ��	�~�� 
 ����� �"/ �"/��� ���������	�"/��� ?"�_�:  

 

( )
( )






⋅

+
−=θ

hn

n

hr

r

m

0
cosarc

  (10) 

' �m��;���� �	h θm = −0,875) ��4�
���.(  

�	F� a"� �����(9)r |4' 61 Y��;�1 Y�.��;� v�](10° < θ° ≤ 90°).  

	� 67�θ0) ��4�
��� ( 67��	 �L� )�*b�� I ��A�&�� �	�� I ��d�*+ �"� O�b��� ��	�j apθm  
0@ �"� ��&
�� O�b���� ��	�j
��������� �k�1~L ���� �"/ �k�+ ����� � ���� �"/ .7&�� ����� 
3 ��7�	|��;F� ��-  ��θm  �pτ (h, θm) . �]�	

� Y����� ����� 5	�-��� �
@ ��7� �1
0@ �� ��d�1 ��d�*b�� �"�� ��7�:  

 ( )θ τ θ θ
m m

h− ≤, 0  (11) 

3.4  �������� 	�
��
� ����� �����  

@ 5	�-��� �
@ ��7� �1
0(11)  ����p�`�� O�b���� ��	�j 2�-3 67x �Y�����θ) ��4�
���( ��� ]^R� ��� I 5�i� ��-7&
������� �����F� |3 K1 ���.�@��:  

 ( )θ τ θ θ− =h, 0  (12) 
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 �����F� |3	(12)�"/��� ?"�_� :  

 ( )θ θ τ θ= +0 0s
h,

  (13) 

3 :�g f�τs (h, θ0)  :�;� �k�.=τ (h, θ)� �� ���
r �k0@ N�_� 67� θ0.  

 Y�.��;� ������� ��,g��� �Z���� a"��	 ���
$� Y�
�4τs (h, θ0)) ��4�
���:(  

  τ
s
 (h, θ0)  =  1/[1.728  +  0.5411 θ0  +  0.03723 θ0

2
  +  h (0.1815  +  0.06272 θ0   

(14)              +  0.01380 θ0

2
)  +  h2 (0.01727  +  0.008288 θ0)] 

 �,�g	θ  �����F� �"/��� ���-��(13) ���p�`�� O�b���� ��	�j ap.  

4.4 �������� ����  

����� �1 :� O�b��� ��	�j �"/��� �k��� ��A_� �L� )�*b�� I ��A�&�� �	�� I ��d�*+ �"θ0.  

 ������2 : ������F� G�,��/��(9) 	(10)� 5	�-��� �
@ ��r �n� �1 ��b�& (11) Y����� . |��-�� �s+ �v�]r �1�� 67� � �n�	
�^9 2�-3 5' o�	�u �
@ v�n 6@ ��0�	 Y��d�1 ���.  

���� ��3 :�� �
@ ��r �n� 5	�-�(11)  m-�_� �Y�����θ  ������F� �"/���(13) 	(14).  

5.4  �������� ������� ������ ������ !"��#��  

� G	
i� �
;1%$1�7� �i� N@ ��A�&�� 5	�~�� ���c�� �"/��1 Y�,�g  . �"/��� �k�$@ |��� ��.��X��� ���"�,$� Y���#$� a"��	
������ ���0;����=� t��;1 �"/���	 5����� 2�7-$� O . �=V1 ��0.� ��$�� ��SZ��� m.-� ���p�`�� O�b���� ��	�~� ��.$;� �3�&	

��-7&��.  

 G	
i�1  
�� ������	 
��
	� ������ ��������� ���   

5  ����� ���	� 
�� ���
� ����  

xO�b���� ��	�j ���
� 5�i� ��-7&�� SZ� %..-� ad��}� �1~L I�u� 
�
� 6@ v�]r o��=>� o��-^ ��0� �' 67 . �' m�	
 O�b���� ��	�j j	�X�� �' ��X[ G���� �$��g o�p�`�� l]p ��7�°3 . |7A�� �u��	1�0�� �d�-�� �-7&�� ��89 6@ ��� �5�i� 

%$1�7� �i� N@ . \
F� I ������ 6@ �$;�-1 �d�-�� ��7� �' m�	1 z� GHz 100  {&�i� �k`F� |1��@ 
3' )�F� ��� f�3
��-7&��.  

� �������	 
��	θ 
�����	 ��	��	 �	���	 ����∆θ) ��������(  
)��������(  �!" ���" #	�$  %��&
 ���" #	�$  #	�$ %��&
 ��'  *+	���	 ��' #	�$  

  1  0,45  ,  ,  0,65  
  2  0,32  0,36  0,38  0,47  
  4  0,21  0,25  0,26  0,27  
10  0,10  0,11  0,12  0,14  
20    0,05  0,06    
30  0,03  0,04      

   -� 
.
�.�	 �	/0��	∆θ)  1�2�3&4�1� 4�56 (  

  1  0,1     7.����	 ����
 �8�    
10  0,007 7.����	 ����
 �8�   
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 |7A��1  
�� ��
� ���!� "#"$�	� %� �&�'	� (��)*�	 ���+,  

-.��/� 0�1 23$'	� �������  

0834-01
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6  ������� ������ �������� �	�� ���  

[ 61 ?$@' 5Sb/��	���� ��-7&�� �=V1 �' �1� S-F� G�q �s+ �O�b���� ?$@ hg���	 � �1 |��/	 ���� �� �A�0� �4�F 5�����
a/
0}� S-F� G�q 61 Nr' ��7� .����� |1�7��� �"/��� G�"�� J��+ ?"�_�	:  

 ∫ −=∆
B

A

snL d)1(  (15) 

f�3:  

  s:  S-F� \
1 ?$@ G�"��  

  n:  ��-7&�� �=V1  

  A	 B:  S-F� �+�q.  

 �����F� G�,��/� 67x �	(15)  ��-7&�� �=V1 SZ� ��r �n� ��n Y�+	��1 S-F� G�q ?$@.  


.��9	 ������	 
��	�)��������( 

:�.;<;=	  A :?��@A	 ����
  
 B:���.&=	 �	���	 

 �
��

�
�

�
(d
B
)
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@ o���L� �4�� ��7� �1
0T  5�i� !Z*��	P  ��.-0�� ���q���	H ��1 ���� ���/ 
0@	 S-F� G�q J��+ m-c �0&s+ ��+∆L 
 5�i� 5������� N-�� �"/��� �k�$@ |��� ���0�0F� 61 Y�g�"&� y��u_	 ���	 �a$� �,�+ �k0@ N�F� ��.��X��� %.= �;��"�� m-3

 I y��4�' 
3�	 ��@ ��/��g �$� G�^500 I ���4 ����' �"� 1979 .��� o��.��� ��7� ��;��"�� l]p I� S-F� G�q J��b� �1
∆L ap:  

 ),(
)cot1(sin

02/1
0

2
0

V
V

L

k

L
L ∆ϕδ+

ϕ++ϕ
∆=∆  (16) 

f�3:  

  0ϕ:  
���� �";& 
0@ O�b���� ��	�j  

  ∆LV:  5��,��� S-F� G�q J��+  

  k 	δ (ϕ0, ∆LV):  a�/��� 5�i� Wn�,0�� ���-L |,��-_� ��� ��������� ��,$�F�.  

 |1���� ]^R�	k ?$@ O�b���� ��	�j SZ� ��.-L� Iq �S-F� G . 
L� N��	δ (ϕ0, ∆LV)  ��-7&�� ��89 6@) Y�"^ ��� S-F�
Y�,�;�-1 .( R"^ ?$@ 5�"0� �p	 <2�-L� I |,k_�	 Y�
4 �*b#0F� O�b���� ��	�j 
0@ �
@ �1 �Y�
4 Y�SZ� Y�,d�� 
L� �]p ��7�	
cm 3,5  ��	�~� !;+ϕ0 n �� °10	mm 0,1  ��	�~�ϕ0  ��n°45 .�3�&	  � Y�
4 oSZ� O�b��� ���	j 
0@ %&' �^9 m&�4 61

 �,$�F� ��7�δ  � �S-F� G�q J��+ 2�-3 Hd��q |r t�/' |7A� ���;.q I ��-1 �4 ��u�+ �s+ �G���� �$��g �} �.-0���
���.;1 ?;.�.  

 5��,��� S-F� G�q J��+ ?"�_�(m)������� �����F� �"/��� :  

(17) ∆LV  =  0,00227 P +  f (T ) H 

I �����F� 61 6x�� )~i� 61 G	�� 
L� (17)� P  5�i� !Z*�� ap(hPa) 
���� �";& 
0@.  

 ���.��X��� ���."�� 5n ����� 
L� IH  ��.-0�� ���q��� ap(%)< o���L� �4�� ���� ?"�_� f(T)� Kg�F� ?$@ hg��� ��� i� �I��Z
������� �����F� �"/���:  

(18) f (T )  =  a 10bT 

f�3:  

  T  �"/��� �k0@ N�_�°C  

  a  �"/��� �k0@ N�_�m/% ��.-0�� ���q�$�  

  b  �"/��� �k0@ N�_�°C-1.  

 G	
i� I ?"�_�	2 ���,$�F� a	 bI��Zi� Kg�F� ?$@ ��bg��� ���$�� .  
 G	
i�2  

  
L a������� |1���� 2�-k  �����,$�(16)� O�b���� Y��/' Y�SZ� ���b& h  ���i� ����-7&��N:  

�����  
a 

(m/%)  
b 

(°C–1)  

� ������ �	�
)��
 ��� ��� ����
 �
 ��� �� 
km 10 ������ ��(  

5,5 × 10– 4  2,91 × 10– 2  

������� �� �����!�� �	�
  6,5 × 10– 4  2,73 × 10– 2  

�"#$%� �	�
&� �  7,3 × 10– 4  2,35 × 10– 2  
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(19) N(h)  =  Ns exp (– h / h0) 

3 f�Ns  ���� �"/ 
0@ ����-7&�� �,�g �"/��1 ap) ������� �`&�ITU-R P.453 (	h0 �"/��� ?"�_�:  

 

s

V

N

L
h

∆= 6
0 10  (20) 

 m-�_� �p
0@k������� o��.��� 61 :  

 k  =  1  –  






ns rs 

n (h0) r (h0)

 2

  (21) 

3 f�ns 	n (h0) �/ 
0@ ��-7&�� �=V1 ��,�g �" O�b���� 
0@	 ���� �h0)  �����F� �"/��� o�"�F�(20) (	 ������� ?$@rs  
	r (h0) ���� ~r�F ���$��;F� ���+�-F� ��.  

 �.-0���� ��S-,$��'(|��/ O�b��� ��	�j K1 θ  61 Nr'°10���	���� ��8 � 6@ ���0�� G�"�� J��+ 6@ S.���� 67x  ��Sb/(m) 
 %&' ?$@¡ O�,"��4 
3 "	"mq� 
3:"  

 (m)     ( ) θ
⋅









⋅
+λ

+⋅=∆+∆=∆ −
sin

1

1
10

2
1

6

ms

s
s

m

d
wetdry

T

ek
pk

g

R
LLL  (22) 

f�3:  
  ps �= es   ���� �"/ ?$@ )�F� ��� !Zu	 )��k$� |1�7�� !Z*��(hPa)  

  = Tms   �"-�� ?$@ )�F� ��� o���3 �4�� !/��1(K)  
  = λ   ��b£� |1�@!Zu��#.��   
  = Rd  = R/Md (J/kg K) 287,0   

  = R   y�����a1��Z�� a¤�~i� j�Z$� 8,314 =  (J/mol K)  

  = Md   �$�7����1��Z�� ��¤�~i� ��i� )��k$� =  (g/mol) 28,9644  
  = k1  (K/hPa) 77,604  

  = k2  (K
2

/hPa) 377600   

( ) ( )( )
ssm
hlathlatgg ⋅−⋅⋅−⋅== 00028,02cos00266,01784,9, = ���n�i� O��-� (m/s

2

)  
  = lat  ����� !^) ��4�
���(  
  = hs  �+ ��7F� O�b��� ��.�� �"/ J(km).  

��.�� \��-1 !/��1 61 ?$@' O�b��� ?$@ ��g���� ��¥.;�-,$� �.-0���	 (km) hh$�¦  �"-�� O�b��� 6@ hs :�g )��;�/� 67x �
 ��"-�� :�g 61 ���i� ������ ��,$�1Tms	 es	 ps������� �����F� ��
#�/� H��q 6@ :  

 (m)     ( ) θ
⋅









⋅
+λ

+⋅=∆+∆=∆ −
sin

1

)(

)(

1
)(

)(
10)()()( 2

1
6

hT

hek
hpk

hg

R
hLhLhL

mm

d
wetdry  (23a) 

 (K)     )()(
smmsm
hhThT −⋅α−=  (23b) 

 (hPa)    

( ) α′







 −α−= d

m

R

g

s

s
s

T

hh
php 1)(  (23c) 
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 (hPa)    

1
)(

)(

+λ









⋅=

s

s

p

hp
ehe  (23d) 

���:  
  = αm   ���� ��	 
���� �
�� ����� ���� ����(K/km).  

 

( ) ( ) ( )





















α−

′
+λ

′
+λ−

′
+λ≅α m

d

m

d

m

d

m

R

g

R

g

R

g
4

11
1

1
5.0 = ����� 
���� �
�� ����� ���� ���� (K/km).  (23e)  

(23f) 
d

R′ = Rd /1 000 = 0,287  (J/g K) 

 (K)     

( ) m

d

ms
s

g

R

T
T

1
1

+λ
′α−

=  (23g) 

���� ����! "�#�$ �%�&� ��'�(� )�#��� *+! ,���-/� �01 2� 34�#56� 71� 3��8��� 29;<.  

 ( ) ( )







 −
π−=

25,365

3
2cos21

iy
iiyi

aD
aaDX  (24) 

���:  

  = Xi  ps =es =Tms =λ <> αm  
  = a1i  �#��#�6 ��?��6� �#��6�  
  = a2i  �#��#�6 ����� ����6�  
  = a3i  �#��#�6 ��@�6� �#��6� 2� A�%  
  = Dy   �5B6� 2� A�%)1  ...365,25(  

= 1 1 =�%�5% = 32 1 =�%�E- = 60,25 1F��� .  

 )0G����� H�BI� �J<a1< a2< a34�1+�� �%�&� ��'�(� )�#��� �%�KL6� )���M�N� O� ��-���6� 34�#56� ������ �01 2�  

 )��?��� 
�P�J 2�ECMWF ERA15.  

��6� 34�#56� �Q� )�#��� R�J �
�$<� ��-a1< a2< a3 ST �KP�#U 7M% ��#J� �V��1 W �%�
 ��'�> �#��� 796 15 O� �?%�1 
 �#��! �@�����1,5 × 1,5) )�
��6�! .( X#B$ )�YZ�� W ��-���6� 34�#56� )0G���� �
�$<<met_param>_<mod_par>.dat =

 ���<met_param> �� press= vapr= tmpm= lamd <> alfm 7
> 2� ps< es< Tms< λ<> mα=[���6� X�P   
<<mod_par> �� a1  <>a2<>  a3 . 2� �� )��?���<0 ST 360 2�< \��@/�] 90+ ST 90− �#��! �@����� O� \��@�^�P °1,5 

���� �� X�P \��@�^�P< \��@/�] .W A"�$ _6� )�-�^N�<�� 34�#56� �Q�  := lat.dat ���
��� ,��6� �1 R�J (90− ... 90) 
<= long.dat  ���
��� ��?6� �1 R�J(360 ... 0) <= hreflev.dat `��Ba 7M�% �#�- ��
��� `��B�� b�Z$�� ����� 

�c�6� (m).  

W 
��%"6� �Bd *> �e �9�L6� ���@ 2P f��g OJ�� W h��
�� i7���B� ��B56�!< jB�� ��] �k� �V�5l ��#9��� ���> m%�] 2P 
7n���B�� b�Z$�� oZ@ A��8��� �01 2� 
�p����< \�!�J �qr(� O!�(� �9�L6� ���@ �5P 
��%"6� jB� ��?6.  

 OJ���� �%�c�6 ����6� A�s56� )����J< t�%���6� ���B�� A��8��� m%�] 2P u����� 34�#56� �J� )E�1� �J<(GPS)<  �v��56� H@�r
 2#^ w@>2 <6 x��6� y�?@ X�P )���#�5� . �z{�6 ��-���� ���| )����J A��8��� 29; w@}- =Er> �J� ST �
�� ~�5� H@�r �4T<

34�#5�6 71�#r ���� ��	 �z^< ���K�6 7��96�.  
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FIGURE  2

Maps of the average excess path delay at reference level in January and July
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Note 1 – The Matlab procedures that implement the model described by equations (22) to (24) dataset

are available from the ITU-R website dealing with Radiocommunication Study Group 3.

Excess

path length

(m)

  
  

  

7  ����� �� ���	
��  

���B9@06 t��#�6� 3���6� *�r �#�r i��U ~�5 2� �z'> �5��� OJ��< b�Z$�� �5P �%N/km 157−.  

T1 =t��P j� \�%�%��� \���L�@� ��B% *> 29; w@( RK� t���� ��
< *�,�> )0'< <> ,�> )0'< X�P �'� �%<�� O� ��{-
\��
 �Z��^ b�Z$�� .! ��L�@/�! �Z9% �a ��6�P )����$ )�4 �%�%���6� )�����6 �#B$ ��6� t���� 79L$ �-�B� ���< �� \��
 \����

�����2 

���	�
�� �	�
 ����� ���
� �����
 ��
������ ����� ���� � ��!�"� #�
$"� %& '$"� (�  
15�����  

15�����  

)���� �	)+�!(,��-(

)���� �	)+�!(,��-(

 �
��

�� 
�

�
)

�
	


��
�	


(
 �

��
�� 

�
�

)
�

	

��

�	

(

�� ���1 –����	
�� 	�
�� Maltab �� ������� ������ ��
�� ���� ��!� "#
�$!� %&� '(�$� )!� (22) *+ (24), 
 -��. /.
��01��	!� �������2���34 5��� 61	�7!����8�9:!� �$;3�0
0��	!� ������! .  

 '$"� )�/
 ,0�1��

)(�
�2�-(  
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 `�1> )���1 O� 71���6� �?1 � 2�< =�%���6� �M�6� �1) ��'��6� �s@�ITU-R P.452 .( ���$ ��<- \�#K� \��<� �64 ��P �#�
 
����� )�jB� EP 71���6� ����� W) ��'��6� �s@�ITU-R P.530 ( j� <> �Z9% / ����
< *�r �6<h��r ����� �s�0� 

�L�@/��5��� ��'< X�P 
����� )�jB� EP �.  

1.7  �	
��
� ����� ����  

P�] t4 t�%��� `�U 71�� O�% ����T �V��� *�9% ���5� *> 29; \��
 �Z��^ b�Z$�� �%�<� �5P ������ ���(� *}- =���-> )�
"o�cI$ "`��� 71�� . t��B9@� �@�
 �Ks� �?B��� �6��� W"t��P " �c?� `�U y�- �%<�� *}- =H!�l ��B9@� 3��$ t4

 �
��� b�Z$�/�(rad) α �6����� �?���! X?�I$ =���(� o�cI$ �96:  

 α  =  2  ×  10– 6 



dM

dh
∆ h  (25) 

� ��dM/dh  t��#�6� 3���6� ���6p���� �%��B9@06 )d

d

M

h
< 0( <∆h �� 7!��% tQ6� `��� �#I� �� y�- `��� 
<�4 b�Z$

����N� �V���.  

 79L6� �?�%3 �96 `�M�6� b�Z$�/� �%<�� "o�cI$ "`��� W ���> . �%<�� OZ$�$<"o��� "�<�� O� �P�B! `�M�6�  )�
��$
 Hd �%��B9@/�N/km 157−) jz�6� )/��� OZ$�$ ���5P t> (`��� �� �%"% ���5P <>.  

2.7   ���� ���"�����"  

T< * )�-�B� X�P ��L�@� ~�5� *�9% ��� `��� W ��6��Z! *���I�� �J�?6� *> 
�<�{6�! ��% / =��
 OJ�� W *�r *T< =`�U ��

��%�] .$ *�r ST �-�^T<� �?���! 
��| �
�� �#�J 2� X�P> *�9% *> �e w@}- =`�M�6� b�Z$�/� �%<�� A��� *> �e �
��� ��

< `�v#�6 t���� m#�6��%��B9@06 �@�&� �Ks�� .)�!�B$ ~�5� *�9$ =o�c�6 ��(� ����6� �Q� Hd<
�%�"��  �<�� EP �J�?�6 
`���.  

��� o�cI$ �96 ��(� ����6� R���$ 29#�� 2
��?�6 7��9$ ��#����! tjZ��!<�$ `�U W � . 79L6� ��%<4 ��(� o��� ���$ 
 ��c?� ���)��M��� )��5c5�� ( ,���-� R�% ��� *> H!�l �%��B9@� 3��$)�6��( 2� ��;?B6� �  ST �Ks� O� =��� b�Z$��

 �@�
"t����� "b�Z$�/� �Q� y�- . ,�(� �#s@> O� ��#��B�� )������6 ��B56�!) �! A�#�6� X�P8< GHz 16( *�9% *> �e =
 [��� �! ��> �� `�v#�65< m 15  = ��(� o��� ���$<fmin=��B9@/� ���� 3��$< `��� �#I� X�P \�jqr fJ��% .  

  

<�%��B9@06 �?1 �@�
 �Ksa ������� �?�B�6� �6�c�6 ��B56�! �� =`�1> �#��� ����P/� W 71�$ =�P�-��� t���� �6�� W . Q1+$
 ����P/� W �#���� �Q��`��� 3��$ Hd ��B9@/� ���� �@�&� �Ks�� 79 .�$ 79L6� W ��?���� )��5c5�� �4 o��� ���$ X�P 

��B9@� 3��$ )�4 ��c?� ���] y�- O�% H!�l 3��$ t4 `�� ��(��%%����� � 2P 7�% / N/km 40−.  
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 �����3  

������� ���	 
� �
�� ��� ��
�� ������ ������������   

����! "�# $�%  

0834-03 
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��������	 
��
 (N/km)

 ���	 ����= m 100
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?6 ��B56�!<���?�� ��(� ��� 2� ��B! ���! X�P> jz$ )/��� �� )���  W ��(� o��� ���$ *�9% =`��� EP ��L�@� ��
�6
�c?� `�U �6�� W ��0�� ����6� 2� X�P> OJ��6� . `��� W o�� ~�5� *�9% ��< =\��
 �#K� `�U )�
���6 ��B56�!<

� jq9! y�> ���] 2� �! / =b�-������$ t( ��B56�! �-�9� 3���6 �c?B6� `��� W ���� �� �.  
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 79L6�4  
���& ����'�� ��( ) ��
�� *'+� ''�,��  

�����-� .�&��,����,��/��   
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    ������ ���	(m) 
  

�
�� ��
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��������� ������� ����� ��!�� "#$ �
#$�% ���


